Name: Class: Date: ID: A

Ch 2 Practice Test

Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.

/1. Ifpossible, use the Law of Detachment to draw a conclusion from the two given statements. If not possible,
write not possible.
Statement 1: If x = 3 then 3x — 4 = 5.
Statement 27 x = § b))

(ay) 3x—-4 =% c. If3x—4=5,thenx=3.
b. x=3 d. not possible \ 'f'y] 1T 7
1> 2. BDbisects ZABC. m/ABC = Tx. m/ABD = 3x +25. Find m/DBC. . |
a. 50 b. 125 c. 75 d. 175

1\ 3. Which biconditional is NOT a good definition?
a. A whole number is odd if and only if the number is not divisible by 2.
b. An angle is straight if and only if its measure is 180.  owkCISE
¢. A whole number is even if and only if it is divisible by 2.~ a
~d. ) Aray is a bisector of an angle if and only if j spllts the angle into two angles.

e 4. Use the Law of Detachment to draw a conclusion from the two given statements. If not possible, write not
possible. ; o/ ) VLY THE CooDiTi oAt

(1 can go to the concert/ lf l can afford to buy a ticket. (ARE — - D 4y x| ) )
. 1 can go to the concert. N 27 B o

a. I can afford to buy a ticket.

b. I cannot afford to buy the ticket.

c. IfIcan go to the concert, [ can afford the ticket.

d. " not possible

A S

?_fﬁ__ 5. Use the Law of Detachment and the Law of Syllogism to draw a conclusion from the three given statements.
__If an elephant weighs more than 2,000 pounds, then-it weighs more than Jill’s car.
If something weighs more than Jill’s car, then-it is too heavy for the bridge. (| (& X
. Smiley the Elephant weighs 2,150 pounds: ) - <

a.> Smiley is too heavy for the bridge. —

'b.  Smiley weighs more than Jill’s car.

c. If Smiley weighs more than 2000 pounds, then Smiley is too heavy for the bridge.
d. If Smiley weighs more than Jill’s car, then Smiley is too heavy for the bridge.
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Fill in each missing reason.

6. Given: mZ1 =m/3
Prove: m/AFC = mZDFB

mZl = mZ3 a. Given
mZl + mZ2 = mZ3 + mZ2 b. Addition Property of Equality
mZ1 + mZ2 = ZAFC ) «. ? A
\ms3 + m/2 = ZDFB
ZAFC = ZDFB d. Substitution Property

a. Addition Property of Equality c.  Multiplication Property of Equality
) \_~b/ , Angle Addition Postulate d. Division Property of Equality

7. Name the Property of Equality that justifies the statement:
If p =g, then p’— rEq-r.

a. Reflexive Property c. Symmetric Property
N b. Multiplication Property C_d.) Subtraction Property
8. ZDFG and ZJKL are complementary angles mZDFG =x +5, and mZJKL = x —9. Find the measure of each
\;'ingle > T Sam s S »
a. ZDFG =47, £ZJKL=153 c. 4LDFG=52, ZJKL =48
b. 4ZDFG =47, ZJKL=43 (d. > 4ZDFG =52, ZJKL =38 Z X -Y

A 9. Find the values of x and y. ml DFe = 1S =S8 <

{ 7¢_// = £
y Y ’
Drawing not to scale y 4B
a) x=15y=17 c. x=68y=112
b. x=112,y=68 d. x=17,y=15
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Short Answer o = =

10. Solve for x. Justify each step.

4x -9 =99 X (S

11.  Write the converse of the statement. If the converse is true, write frue; if not true, provide a counterexample.

> A P4 L

Ifxr= 4, then x? =16.

i -4
> T " | e 4

Fill in each missing reason.

12. Given: mZA0C = 150

Drawing not to scale

mZAOB + mZBOC = mZAOC a. L. °
2x+6(x—-3)=150 b. 22U
2x+6x - 18 = 150 c. i

& — 18 =150 d. Vi~
8& =168 e. [\ o
x=21 £ >\
13. Given: AC =32
R 2x B 6x +8 ~
A B c

Drawing not to scale

AB + BC = AC a. )Jg¢g
2x+6x+8 =32 b. >ul
& +8 =32 c._ 2/
& =24 d. _2UuDT
xX=3 &
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Essay

14.  Assume that the following statements are true.
 i. If Cecil makes his bed/then it is morning. s
ii. If itis 8 p.m?then Taﬁﬂ‘bizuéll6§ her teeth.

iii. If it is morning, then(Ted listens to the radio.’ 7

iv. If it is aftemoéﬁ, then Jeanett?tak@ls her daily swimh.

v. Cecil makes his bed.

For each statement below, write must be true, may be true, or not true. Use only the information given above.
Explain your answers.

a. Ted listens to the radio.
b. Tami does not brush her teeth.

¢. Jeanette takes her daily swim. |

15. Given: Z1 and £2 are complementary, and £2 and /3 are complementary.
Prove: /1 = 23

A
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Fill in each missing reason.

16. Given: Z1 = /2, mZ1 =130
Prove: m/3 = 130

A

A

Drawing not to scale

D= 22 mll =130 a. (51Ue
ms2 = 130 b, SU,
£2 = 73 c. /tv
ms3 = 130 d Supbst FPOE€

Other

17. Write the two conditional statements that form the given biconditional. Then decide whether the
biconditional is a good definition. Explain.

Three points are collinear if and only if they are coplanar.



